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Area of bubble A / mm2
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N (>A) = 48.3 A-0.66


       R2 = 0.99
N (>A) = 37.6 A-0.67


       R2 = 0.98

N (>A) = 24.8 A-0.74


       R2 = 0.98

N (>A) = 39.4 A-0.76


       R2 = 0.97

N (>A) = 45.5 A-0.64


       R2 = 0.98
N (>A) = 37.7 A-0.88


       R2 = 0.97

(a) (b)

(c) (d)

(e) (f)
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Area of bubble A / mm2
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N (>A) = 36.6 A-0.81


       R2 = 0.98
N (>A) = 39.0 A-0.74


       R2 = 0.97

N (>A) = 34.7 A-0.70


       R2 = 0.94

N (>A) = 79.2 e-0.41A


       R2 = 0.93

N (>A) = 39.8 A-0.79


       R2 = 0.94

N (>A) = 38.3 A-0.77


       R2 = 0.95

N (>A) = 93.2 e-0.44A


       R2 = 0.92

N (>A) = 36.4 A-0.70


       R2 = 0.96

(a) (b)

(c) (d)

(e) (f)

� (���0����?O,>��1O@H�W�0�S�S:������(�U��?&�(*�626�=(�S:0�2�(���)��:�
�9Cq���
 %9:���1�`������ ~�5b79H���=(* %�1)32��`BD(�2��A�
)I(*)�(�2�(*�
�#�
45��26��)��
45��)326�1)32/�
��O*)%B�2�> � �
)�&T�"4=���
 JSH���D9����1����0����E�
� �I JS:�#�1>qX7�
 %9:���1�I$'�3+=_�$�SH+@�
)�&t$'4�+��#���J������ 
�=0�)ana$�2��#S:���"O,> O�+/�
)�&a���
 %9:���1�[$'&|+=_?$��
+D�
)�&s$��Z+D�#���[������ �=0�)K��>J�����8S:(*)��#��;T(* "�#�
�1�/�
�?2����
���
 %9:���1�@�#���A�
�*�6�[������BD)`> l �*� C8W�X7YE���#���EB@�1�*��{:2�S,;C�89H��B@���q�*�1B~&�(*�626�=(�S:0�2�(���)`_�S:0�2?2����/{:2@�
�
2����IW�X7YE���
�.���
 %9:���1�J$'4�+��
)�&e$��
+@26���
)L�5b79H��)��1)32�(*�
�`&�(*�626�=(�S:0�2�(���)�(*�q�
�*�6�"���1�
�6��)��#S:���
>



������� ��� 
������	������� � 
 ��� � 	 � 
 � 

���	� � � ��� 
 �
�

N
 (

>A
)

Area of bubble A / mm2
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N (>A) = 34.3 A-0.86


       R2 = 0.96

N (>A) = 28.9 A-0.83


       R2 = 0.93

N (>A) = 91.7 e-0.65A


       R2 = 0.96

N (>A) = 20.5 A-1.00


       R2 = 0.98

(a) (b)

(c) (d)

(e) (f)
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7 nucleation events

N (>R) = 930 R-1.76


correlation coefficient = 0.99

4 nucleation events

N (>R) = 47.0 e-0.15R


correlation coefficient = 0.99
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7 nucleation events

N (>R) = 605 R-1.59


correlation coefficient = 0.98

4 nucleation events

N (>R) = 42.2 e-0.11R


correlation coefficient = 0.97
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